Top heavy sequence
The signal intensity is very strong in the beginning and falls off early.
The signal strength gradually declines as the sequence continues leading to poor read length.

Possible causes of Top Heavy Sequence
· Presence of salt within the reaction – this inhibits the enzyme and results in a shorter read length (mostly responsible for gradual loss). Salt also competes with DNA during injection into the capillaries.
Note:  DNA should NOT be dissolved in TE buffer because of EDTA's ability to bind Mg++ which is critical to Taq polymerase activity.

· DNA/primer concentration too high
· DNA/primer concentration too low
· Difficult DNA content

Possible solutions

· Dilute to proper concentration and re-sequence
· Increase concentration and re-sequence
· More cycles for sequencing
· Reprep DNA ensuring that is free of any inhibitors.
